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1. ril locus in phage T, is one of the
loci affecting

fa) rapid lysis of K-bacterium
(b} rapid lysis of B-bacterium
(c) protein coat synthesis

(d} attachment of phage to the
bacterium

2. Which one of the following
statements is not correct?

fa) All sponges are exclusively
marine

{b) Amphiblastula is a landform of
certain sponges

{c} Calcareous and siliceous
spicules are found in many
sponges

(d) All sponges are sessile

3. Chromopexy is a kind of
{a} phagocytosis
(b} cell vomiting
{c) pinocytosis

{d) exocytosis
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4. Consider the following components
used in electron transport system
that act in a sequential manner :

1. NAD

2. Cytochrome C
3. Cytoc}‘1rome Aj
4. FAD

What is the correct sequence of the
above?

(a} 1-4-2-3
() 3-4-12-1
fc) 1-2-4-3
(dj 2-1-3-4
5. Which one of the following cell

organelles oxidizes very long fatty
acid chains?

(a) Peroxisome
{b) Nucleosome
{c) Dictyosome
{d} Golgi apparatus
6. Which one of the following enzymes

is involved in the regulation of cell
cycle?

(a) Cyclin-dependent protein
kinase

(b} Cyclic-AMP-dependent phos-
phodiesterase

{c) DNA-dependent RNA polym-
erase

(d) DNA glycosylase
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A molecular alteration in
chromosome that generally
accompanies chromosome conden-
sation during mitosis is

fa) phosphorylation of cdc 2
protein

(b) phosphorylation of cyclinB
protein

(c) phosphorylation of histone H1

(d) tangling of sister chromatids

8. Which one of the following

combinations of histone molecules
combines with the DNA to form the
nucleosome core?

(a) H1, H2A, H3, H4
(b} H1, H2B, H3, H4
(¢} H1, H3, H4, H5

([d) (H2A, H2B) (H3, H4)

9. Which specific cell substance when

treated with a warm acid and upon
adding Schiff's reagent takes
reddish purple stain?

fa) Amino acid

(b} Protein
{c) DNA
(d) - Lipid
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10. In the case of sickle-cell anaemia,

consider the following statements :

1. B-chain of Hb® is not different
from Hb* hemoglobin.

2. Patients are sensitive to
malaria caused by
P. falciparum.

Which of the statements given
above is/are correct?

{a} 1 only
(b} 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

11. A normal human female has two

X-chromosomes in her genome, one
of which gets heterochromatinzed
during early development and
becomes inactive, Such inactivated
X-chromosome is the one which
has been contributed

{a) exclusively by her mother
{b) exclusively by her father

fc} by any of the parents, and
inactivation is a matter of
chance

(d} with more number of lethal,
sub-lethal and detrimental
genes on it
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12. The number of chromatin positive
bodies in  individuals with
tetrasomic Klinefelter's syndrome is
{a) one
(b) two
(c} three
(d) four

13. The gene required for male
sex-determination in humans is

(a) DAX 1
(b) ZFX
(c) SXr
(d} SRY

14. With reference to plasmagenes,
consider the following statements :

1. Plasmagenes are  present
inside the chromosome.

2. They are capable of self-
replication.

3. They are transmitted by means
of cytoplasm.

4. They are not capable of
mutation.

Which of the statements given
above are correct?

fa) 1 and 3 only
(b) 2 and 4 only
fc) 2 and 3 only

(d) 1,2, 3 and 4
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15. The tertiary structure of tRNA takes
the shape of

(a)
®)
(c)

{d)

clover-leaf

inverted ‘J’

inverted ‘T’

inverted ‘L’

16. In case of lac operon, when
disaccharide enters the cell

(a)

{b)

(c)

(d)

it binds to the bound-
repressor-to-the-operator and
the structural genes are
transcribed because the RNA
polymerase can  recognize
and bind the transcription
initiation site

it binds to the repressor and
the structural genes are
transcribed because the
repressor has an altered
conformation; is inactivated
and does not bind the operator

the membrane protein
interacts with the operator and
the RNA polymerase can
recognize the transcription
initiation site

the membrane protein has an
altered conformation and does
not interact with the operator,
thus leading to the tran-
scription of the structural
genes
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17. Which one of the following vitamins
is essential for the synthesis
of DNA?

fa} Folic acid
{b) Biotin
fc} Tocopherol

(d) Pyridoxine

18. Which one of the following human

genes has the longest stretch of
DNA (~24 Mb)?

{a) Globin gene
(b} Histone gene
(c) Dystrophin gene

(d] tRNA gene

19. DNA microarrays or ‘gene chips’

were developed in the 1990s to
determine the

{a) joining  blunt-ended DNA
fragment

(b) transcriptional status of
thousands of genes in a single
experiment

(c) different pieces of the genomic
DNA

{d} homologous gene expression
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20. Which one of the following is the

Henderson-Hasselbalch equation?

() pH = pK, ~log AL

[HA]

1A}
H = pK, +1
b)) p pa+0g[HA_]

[A7]
H = pK, +log ———
) p PRa+log

(d) pH = pK,+log HAl

[A7]

21. Which one of the following parasitic

nematodes does not require an
intermediate host to complete its
life cycle?

{a} Brugia malayi
(b} Ancylostoma duodenale

(c/ Wuchereria bancrofti

fd) Dracunculus medinensis
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22. Which one of the following is the
correct sequence of larval stages in
the development of Fasciola?

(a) Miracidium, Redia, Sporocyst,
Metacercaria, Cercaria

(b) Cercaria, Miracidium, Sporo-
cyst, Metacercaria, Redia

{c) Miracidium, Sporocyst, Redia,
Cercaria, Metacercaria

{d) Redia, Cercaria, Metacercaria,
Sporocyst, Miracidium

23. With reference to Hemipterous
mouthparts, which one of the
following statements is correct?

{a} The labrum, mandibles,
maxillae  and hypopharynx
form six long pointed stylets

(b) The labrum is
ventrally

grooved

{c¢; The mandibles and maxillae
form four long needle-like
piercing stylets

{d) The labium forms a long
dorsally grooved proboscis
tipped with a pair of sensory
labellar lobes

24. The glands found on the edges of
eyelids and help to keep the cornea
surface moist are called

fa) Ceruminous glands
(b} Zeis glands
¢} Sudorific glands

(d) Meibomian glands
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25. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
{Organism) (Metamorphosis)
A. Spring tail 1. Heclometabolism
B. Stoneflies 2. Hemimetabolism
C. Termite 3. Ametabolism
D. Honeybee 4. Heterometabolism
Code :
{a) A B C D
4 3 2 1

® A B C D
3 4 1 2

() A B C D
4 2

d) A B C

SR

26. Which one of the following animal
groups belongs to same class?

(@) Pheretima, Lumbricus,
Hirudinaria

(b} Spider, Louse, Millipede
{(c) Cuttlefish, Devilfish, Squids

{d) Silverfish, Crayfish, Razor fish
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27. Match List-I with List-II and select 29,

the correct answer using the code
given below the Lists :

List-I
A. Struthioniformes
B. Monotremata
C. Casuariiformes
D. Crossopterygii
E. Gymnophiona
Code :
fa) A B
5 4
(b} A B
2 4
fc) A B
2 1
{d) A B
5 1

o0

—

Consider the following :

1. Diarrhoea
2 Dementia
List-II 3. Dermatitis
Uraetyphlus 4. Delinquency
Ostrich Petlagra is characterized by which
of the above?
Latimeria
Tachyglossus f@) 1,2 and 4
Emu (b} 1, 2 and 3
{c) 2, 3 and 4
{d) 1, 3 and 4
D E . .
3 1 30. Consider the following statements :
1. Pisces and Amphibia can be
D E differentiated on the basis of
3 1 differences in skin.
2. Elasmobranchii and Teleostomi
D E can be: differentiated on the
4 3 basis of endoskeleton.
3. Scoliodon and Torpedo can be
D E differentiated on the basis of
4 3 electric organs.
4. Salamander can be differ-

28. Which one of the following fishes is

not a dipnoan?

(a} Protopterus sp

(b} Neoceratodus sp

fc) Notopterus sp

{d) Lepidosiren sp
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entiated from Bufo on the basis
of parotid gland.

Which of the statements given
above are correct?

(a)
(b}
(c)
(d)

1 and 2 only
2, 3 and 4 only
1, 3 and 4 only

1, 2, 3 and 4
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31. A caudal fin which is asymmetrical
internally and symmetrical
superficially {outwardly), and the
vertebral column is shortened and
slightly bent upward at the end is
known as

{a) Protocercal
(b) Diphycercal
(c) Heterocercal

{d) Homocercal

32. In schizognathous palate in ‘birds,
the vomer is

{a) large and broad behind

{b) either absent or small and
pointed in front

fc) broad and truncate in front

fd} large and perforated

33. Which one of the following features is

not correct in the case of New
World Monkeys?

(a) Cheek pouches are absent
(b} Pollex is opposable
(c} Ischial callosities are lacking

No bony external auditory
meatus
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34. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

List-1 List-II
(Organism) {Structure}
A. Sagitta Nephridial tubes

B. Phoronis Long refractile

proboscis

C. Lineus Jaws as sickle-shaped

chitinoid hooks

D. Lingula Bivalve shell

Cede :

(al A
3

(b) A
1

35. Sagitta is an example of a marine,
planktonic, predaceous animal and
it belongs to the phylum called

{a) Bryozoa
(b} Phoronida
{c} Chaetognatha

{d) Brachiopoda
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36. Shivering in malaria occurs when

fa) schizonts enter RBC

(b} signet ring is formed

fc) merozoites enter RBC

(d) merozoites

from RBC

are liberated

37. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1
(Larva)
A. Giochidium
B. Bipinnarig
C. Tornaria
D. Amphiblastula
E. Trochophore
; Code :
|
faj A B
4 2
b} A B
4 1
fe) A B
5 1
fd) A B
S 2
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w0

IS e

List-iI
(Organism)

. Asterias

Balanoglossus
Neanthes
Unio

Sycon

o g
w =

16

‘38. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-T List-II
A. Biradiata 1. Sipunculida
B. Acoelomata 2. Echinodermata
C. Pseudocoelomata 3. Rhynchocoela
D. Schizocoelous 4. Entoprocta
coelomata
E. Enterocoelous 5. Ctenophora
coelomata
Code :
faj A B C D E
3 5 4 2 1
(b) A B C D E
5 3 4 2 1
fc) A B C D E
3 5 2 1 4
(d) A B C D E
5 3 1 2 4

39. Which one of the following larvae
of Fasciola possesses cystogenous
gland cells?

fa) Miracidium
{b) Sporocyst
fc} Cercaria
{d) Redia
40. Which one of the following structures
is absent in Taenia solium?
fa) Mehlis’ gland
{b) Rostellum
{c/ Laurer’s canal

(d) Cirrus sac
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38, -1 # G- B gafm Al ok

gt & = e g2 = I w1
?E‘R'ﬁﬁ‘{:

-1 He-11
A. fem 1. WREEE
B. wHidmel 2. UHrEreHleT
C. Hedeia 3. e
D. dnfp dieia 4. TRWE
E. yaRs dieder 5. e
| ¢
@ A B C D E

3 5 4 2 1
() A~ B C D E

5 3 4 2 1
¢ A B C D E

3 5 2 1 4
@ A~ B C D E

5 3 1 2 4

39. Hfyenen & P=fafiaa ol (@Ed) 4 8

e s # g 1fY IR Ed 82
(a) iR

(b} T

fc) WhRIE

(@) e

40, fffga 4 ¥ *m-f w=w A

Hiferay & srqafedm 87
(a) Wefw uf

(b) q=H
(c) T TA

(d) T H
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In Hirudinaria granulosa, a -
temporary clitelum is formed by
the segments

{a) V-VII
(b) XI-XXV
¢ IX-XI
(d M-y

42. The Indian cattle leech, Hirudinaria

granulosa possesses

fa) S pairs of eyes and 11 pairs of
testis sacs

{b) 2 pairs of eyes and 2 pairs of
testis sacs

{c/) 1 pair of eyes and 11 pairs of
testis sacs

(d) S pairs of eyes and 1 pair of
testis sacs

43. Kidney in Pila communicates with

{a} pericardium and mantle cavity

(b) visceral aorta and pulmonary
sac :

{c) visceral aorta and mantle
cavity

(d) mantle cavity only

44. Which one of the following types of

skull is found in Columba?
{a) Dromeognathous

(b Desmognathous

fc} Aegithognathous

fd) Schizognathous

P-DTQ-J-APP/3A

45. The presence of foramina

transversaria for the passage of
artery and vein is a characteristic
feature of

(a) cervical vertebrae of rabbit
(b} thoracic vertebrae of rabbit
{c/ cervical vertebrae of frog

{d) thoracic vertebrae of frog

46. The inner surface of the intestine in

some fishes becomes folded to form
an anticlockwise spiral called scroli
valve. This valve is present in

(a) Tenulosa ilisha
{b) Ctenopharyngodon idella
(c) Scoliodon sorrakoval':

{d) Heteropneustes fossilis

47. Which one of the following air sacs in

Columba is not paired?
fa) Cervical

(b} Thoracic

fc) Interclavicular

(d} Abdominal

48. Traéhca is supported by complete

bony rings and complete
cartilaginous rings respectively in

fa)} Columba and Calotes
(b) Rana and Columba
{¢) Calotes and Oryctolagus

(d} Oryctolagus and Rana




41. FefAfar dgena ¥ &1 @vsl & g0 &
eyt iRt o e et ®°

(@) V-VII
(b) XI-XXV
() IX-XI

(d) TI-V

42. WER T S, gelARar igeard

(@ 5T AT 11 TW g9 HW
g

(b} 2™ A N 2 TH IIN B A &

(¢) 1FW 3 A 11 W I HY T
g

(@ 573 SR 1 gW g A AR g

43, g ¥ g% Trad wy qer ° g 37
(a) TEATEW R THR-TET
(b) TR WEIWA 3 FOFA Y
(c) =TT REUEA 3 WER-TET
(d) A TEAR-TE

44, Fewa i efafas 9 @ 5 o wr 6
T urft SIft 37

(@) TR
(b) wgE
(c) <EwEAl
(d) dteg
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45. vl 3 fiw % wormm & fae i

Zigaratan i framme fee o fafie
weqor 37

(@) @O F Har HIEF
(b) TN H q&ha FRITh
(c) Wes w1 Mar Faeh

(d) e w el s

46. o a1 # i Fi oficd) wae afer

& IHEd gt S § R e T
Ed &1 g aca foemd Foramm g @7

(a) 2qEten ghemm

(b) ARSI snESE
(c) THITTAIEI FHar
(d) FRIgERA Wiletcd

7. Fewar § Frfafen 3 A BF-w arg B

gfia wEl g
(a) U=
(b) X
(c) SFTASTLH
(d) 3=

a8, mremeh Fhm: frad T aiftm aet o

ol SuTe aert BT WA el 27
(@) FicTE A FeAe

(b) T 3N Hfcrear

(c) Feiem 3R srifEaT

(d) 3RFT AX T
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49. In Calotes, the apex of the ventricle is 53. The hormone somatostatin is
connected with the pericardium by secreted from
a thin and white tissue called

{a) medium eminence
{a) Musculi pectinati

{b) zona glomerulosa
{b) Chordae tendineae

{c) delta cells in pancreas
fc) Gubernacular cordis

{d) choroid plexus
(d) Columnae carneae

54. With reference to coelenterates,

50. In the hea.l‘t of rabblt, Sinus VENoOsus consider the fOllOWlng features .

is absent as it has merged with the 1. Polyp forms

wall of
' 2. Strongly developed stomo-
faj right auricle daeum and possessing
siphonoglyphs
(b} left auricle P s
3. Well-developed mesogiea
{c} conus arteriosus containing fibrous connective

tissue and amoeboid cells
(d) right ventricle

Which one of the following pairs of

S1. Systemic arches in frog are derived coelenterates represents the above
5
from which aortic arches? features:

(a) Fourth pair ' {a) Obelia and Aurelia
{b} Third pair {b) Physalia and Vellela
{c) Fifth pair (c) Polyorchis and Porpita
{d) Sixth pair (d} Zooanthus and Alcyonium
52. Myxoedema is a disease caused by 55. Among the following foods, which is
the most appropriate for a desert
(a) hypersecretion of thyroxine mammal for the regulation of its

hormone in children water balance?

(b) hypersecretion of thyroxine {a) Carbohydrate-rich cereals
hormone in adults

(b) Oil-rich seeds
{c) hyposecretion of thyroxine

hormone in children {c} Protein-rich pulses
(d) hyposecretion of thyroxine {d}] Both carbohydrate- and
hormone in adults protein-rich foods
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49. g § from w1 o, TeaEw & 9™
e & TR o AT Fow F WU WY
gt 87

(a) TSR U
(b) FE T
c) wFeEE ifda
mwwxl

50. EUIY % w4 # i wi srgriem g
3, Wi a8

() 3w afee A fafa & el & st
2

(b) @ afee # iy 7 faelw @ s
®

{c) aft vig < il & Rl & s @

(@) = fiem <t fify 7 foefim @ o
?

51, ew § s w@ F9-d e a9t @
A Bt &7

{a) =T gm
(b) d W
(c) wi=dlZm

(d) BT IR

52. ffFafen, o I, g w1 ] @ 37
(a) T/ yiadaa g @ fdene
(b} TEEH | AR gH & Al
(c) ==t H ufiE §Hls W e

d) TFei ® ofifREA FEHE W
IETHE
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53. qERRRA FE feud wiia S 27

(o) wfgmm wid=a

(b] T=5 &R
(c)] 3T=aTI™ ! e FIREHN

(d) T AE

54. e % Ged #§ f=fafes ffwast w

foram s

1. e &9

2. uww ¥ U Frelm gEay sk
TRyeats 2l &

3. ghwe novaer el WeER
e aw R sufifim S
EAGUR

e w1 F=fifan § | -1 @& W
s @l o fef| s 87

(a) 3iierar 3R arriferan
(b) TR S A
(c) wichsritfag i gifder
(d) JEuE 3 e

55. Prafifee @l 4 4, w8 TIah & 59

gged & frme % fae Fh-w, wwilts
U 7

(a) W FEIEESE qTel AT
(b) TR A I A
(c) VIR WA areh I

(d} TR FEtEEee ot TR WER A
g gt
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56. Consider the following pairs : 58. During transmission of nerve
impulse, the membrane potential

Membrane Functions inside the cell is
proteins {a) first negative, then positive and
1. Sodium channel  Helps in entry back negative
of Sodium into (b) first negative, then positive and
the cell remains positive
2. Potassium Helps in entry (c) first positive, then negative and
channel of Potassium remains negative
into the cell (d) first positive, then negative and
3. Sodium- Helps in exit of back positive
Potassium Sodium and 59. During phosphogluconate pathway
ATPase entry of {HMP shunt), the monosaccharides
Potassium into formed along with CO, are
the cell {a} hexoses
Which of the pairs given above (b) trioses
is/are correctly matched? (c) tetroses
{d) pentoses
fa) 2 and 3 60. What is the difference between
substrate level phosphorylation and
(b} 1 and 2 oxidative phosphorylation?
() 2 only fa}] Energy released by flow

electrons is utilized in oxidative

phosphorylation for the
(@) 1and3 synthesis of ATP but not in
substrate leve! phosphoryla-

tion
S7. Which one of the following is correct {b) ATPs are produced by oxidative
in jon exchange during impulse ‘ phosphorylation but not by
conduction? substrate level phosphoryla-

tion

(a) Sodium pump stops working fc} Substrate level phosphoryla-

tion occurs only under non-
aerobic condition but not
oxidative phosphorylation

(b) 3Na® are pumped in and 2K*
pumped out

{d) Oxidative phosphorylation

requires more energy for
every 2K* pumped in synthesis of ATP  than
substrate level phosphoryla-
tion

{c) 3Na®™ are pumped out for

(d) 1Na* replaces 1K'

P-DTQ-J-APP/3A 22




s6. Prfufa i w frew AR -

et S v

1. wifeaw s  AifgTT %
GErR| a9 A g w2

2. uifimm S § ORREm &
¥ 7AW § e F 3

3. okmm- i g aftm s
oty Ferme o Sifies 8
g Tfiem & wET A

HERIAT T 8
Tl Tl § | w-/Q gafed 2 /@7
(@ 233
(b) 132
(c) a2
(d) 13R3

57. Frafafaa § 4 S9-T1 T, @7 IOH S
A a1 fafe & foe w2 27

(@) EET T FIH AT T8 B2

(b} 3Nat =t uf@ T § 3R 2K*
TR A A

() We% 2K* ¥F R ufm I &
f 3Na* 9 9ffiT B 2

(d) 1Na* 1K* & wieeniia s 2
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58. @lE AT ¥ TEO & A, M F

=1 g o

(@) o HOTERSH, TEAH TS Bl
2 3ft am TS B S 2

(b) RS FMVIICHE, AT HACHE Bl
% af amrers @ & war R

(c) TER UFRHE, AT, WS Bl
2 3N et € 5 G B

(d] TER UAHF, qeqeTd FONHT gral
% afR Iy YToTR @ S #

59. WETRYe T (HMP ¥2) & o,

co, "W % @ -y = FE-A
NAAFGE F1d 87

(a) T

(b) T

(c) W

(d) T2

60. Frmun X SieRleyd it stihetof

wEprienr & T T T=K 87

(@) SERECl weediand § gaEgl
¥ g 4 Ffe st = ATP &
gyawu ¥ I9gIm grar & vy e
W HERiieTH & TE '

(b) WATFHTR FERATA T ATP
@ §, wWg fRmR &«
Rl g T8 el

() TFEMR W wEelaT SEd
samd Rl § @ ufed € g,
UG et BeRi@TH TE

(d) Faeol wwelicya % ATP
gmm % fag fREmm @
wiERRTH & anen Aftw =t i
SR Bt B
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61. Consider the following pairs :

Polysaccharides Glycosidic
bonds

1. Chitin B1-4)

2. Cellulose B(1-6)

3. Glycogen a{1-4) and of(1-6)

Which of the pairs given above are
correct?

fa) 1 and 2 only
(b) 2 and 3 only
fc¢j 1 and 3 only

({d} 1,2 and 3

62. Bomby'kol is a/an
fa) hormone
(b) parasite
{c) pheraomone

{d) enzyme

63. Long-chain fatty acids penetrate the
inner mitochondrial membrane as
derivatives of which one of the
following?
faj Carnitine
{b) Coenzyme A

{c) Sialic acid

(d) Sphingosine
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64. Consider the following statements :

Fibrinogen, the precursor of fibrin

1. consists of only primary
structure

2. resembles fibrous proteins
structurally

3. behaves like globular proteins
in their solubility in agueous
salt solutions

Which of the statements given
above are correct?

fa} 1 and 2 only
{b) 2 and 3 only
{¢/ 1 and 3 only

({d) 1,2 and 3

65. Consider the following :

1. Succinate dehydrogenase
2. NADH dehydrogenase

3. Cytochrome oxidase
4

Cytochrome bc; complex

What is the correct sequence of the
above in the electron transport
chain?

{a) 2-4-1-3
(b} 2-1-4-3
(c) 3-1-4-2

(d) 3-4-1-2




61. Frafafs gmi w famm Hifsm
qifr@ags TTEHRIaEEl

AT
1. wERA B(1-4)
2. Heaw B(1-6)
3. TEEHSH a(1-4) 3 a(1-6)

S gt # @ FA-1 7 87
(@) Faa1 3R 2
(b) A 2 HN 3
fc) HIA 1 R 3
[dy 1,233

62. aﬁaﬁaw%?
(a) THF
(b) st
fc) HHA

(d) T~TEH

63. < S@en e gor-Inw freafalae & @
e ™ F FAR & T H AN
wigdiit-gen frgl o wiere o 87

fa) (A

fb) HATTSRH A
fc) wUfc® T
(d) TeeTmEH
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64. Ftafiza Tt w foam hifsm -

EiRlsAreH, S EEhE T §
1. Fae Wl =T e Bl g

D, TENTHE ®Y W WRR WA #
TAM Bl B

3. sefa daEu-adt § faemm & ame
T nifasemy WA 6 uifa sTaEEr
AT §

I HYAT F F RA-H Twh &7
(a} FaA 1 3R 2
(b} FaA 2 IR 3
(cj FaA 1 3R 3

(d) 1,23M3

65. Frfafaa = famm Hife

1. HfegIe dEggeng

2. NADH ¥Rgeg
3. WRAET i
4. WFEERA be, W

(a) 2-4-1-3
(b) 2-1-4-3
(c) 3-1-4-2

(d) 3-4-1-2
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66. Consider the following statements 69. An allosteric inhibitor of enzyme
action acts by combining with

regarding the inner membrane of
the mitochondria :

1. It keeps a high concentration
of H* in the intermembrane
space.

2. It helps to arrange the different
molecules of the electron
transport chain in the right
order,

3. It has proteins and
phospholipids.

Which of the statements given
above are correct?

{a) 1 and 2 only
(b} 2 and 3 only
{c/ 1 and 3 only

{d) 1,72 and 3

67. Maltose is formed by which
glycosidic linkage?

(a) Glucose o 1-4 glucose 71.
(b} Galactose o 1-4 glucose
{c) Glucose  1-4 galactose

(d} Glucose B 1-4 glucose

68. Who among the following proposed
the a-helix structure of proteins?

fa) Crick and Watson
(b) Pauling and Corey
(c) Nirenberg and Khorana

(d) Skoog and Miller
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(@)
{b)

(c)
(d)

the catalytic site of the enzyme

the non-catalytic site of the
enzyme

the substrate

both the substrate and the
non-catalytic site of the

enzyme

70. Which among the following are the

enzymes leading to substrate level
phosphorylation during glycolysis?

a)
(b)

(c)

(d)

Pyruvate kinase and enolase

Pyruvate kinase and phospho-
glycerokinase

Triose phosphate dehydroge-
nase and phosphoglycero-
kinase

Phosphoglycerokinase and
phosphofructokinase

Which one of the following
statemments is not correct about
metamorphosis in frog?

(a)

(b)

(c)

(d)

The forelimbs, which develop
under cover of the opercular
membrane, break through to
the exterior

The middle ear develops in
connection with the third
pharyngeal pouch

The eyes protrude on the
dorsal surface of the head and
develop eyelids

The tongue is developed from
the floor of the mouth




66. WA A R THE F oa=d #

frfeiaa wemt w fem Al -

1. I8 (Ui eww § 1Y & 3=
HIEAT SAIC W&t &

2. W% WRH AR g & fAfm
arpaft # wdt W ¥ Ao w9 |
TR w2

3. o WA i wienfafe
I Bl | BA-9 T E7
(a) a1 3R 2

(b) et 2 3 3

{c) Hawt 1 3 3

(d} 1,233 |

67. Teed frg geIfties sg @ w7 87

(@) THE o 1-4 TR
(b} AR o 1-4 TR
c) TFE P 1-4 ST

(d) TG B 1-4 °fRE >

68. TroiuRag & § ey M 6 o-2fvw

HTEAT & weItea foran-on?
(a) Theh it aree

(b) i i R

fc) el SR g
(@) w1 3R e
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69. =R fsrn =1 el genes rass @

e FIoRt HTH AT 7

fa) TSR o ISTH T
(b) TTER i SR T
(c) TR

(d) HTE AR THEH F O T
AT

70. Trafafias 4 @ -1 woEn Stk

F AT aM fHRauR ' wiendaTs F=@
g7

(a) 9SG HEE T FA

(b) UIFEdZT AW I HIEH-
(ER e FEL)

(c) TEeME wiehe dErgsiag i
FR RIS T

(d) FERfoaisEE R wieR-
FE IR

71. " & Hww & faww § faafafea 4 1

THE-T1 UF FYA TG T4 27

(a) 3R, s Weoel fargt % ermEw &
IR fefg A &, I Pea om
g

(b) T TV AL T Y B e g
e g @

(c) @ ¥ A g8 Iaw W IR =N
g ot € ot uess oft fee
et &

(d) T, @ & oo | frftm <t 2
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72. Which of the following changes are

involved in retrogressive meta-
morphosis in ascidians?

1. Increase in the number of
pharyngeal stigmata

Complete disappearance of tail

3. Disappearance of the endostyle
and other parts of feeding
mechanism

4. Disappearance of the eye and
the otocyst

Select the correct answer using the
code given below :

Code :
{a)
{b)

¢ 1,2 and 4

2 and 4 only

iand 3

{dj 2,3 and 4

73. Consider the following develop-
mental stages of frog :

1. Neurula

2. Blastula
3. Morula
4. Gastrula
Which of the above lack a
blastopore?
fa) 1 and 4
{b) 2 and 3 only
fc) 1,2 and 3
(d 2, 3 and 4
P-DTQ~-J-APP/3A
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74. Consider the following statements :

The upper layer of the area opaca in
the blastoderm of chick gives rise to

1. ectoderm
2. mesoderm

3. extra-embryonic endoderm

Which of the statements given
above is/are correct?

{a)
(b} 1 and 3 only

1 and 2 only

fc; 3 only
(d 1,2 and 3

75. Consider the following statements

on extra-embryonic membranes in
chick :

1. Allantois has inner layer of
endoderm and outer layer of
splanchnic mesoderm.

2. Yolk sac has an inner layer of
endoderm and outer layer of
splanchnic mesoderm.

3. Allantois has inner layer of
splanchnic mesoderm and
outer layer of endoderm.

4, Yolk sac has inner layer of
splanchnic mesoderm and
outer layer of endoderm.

Which of the statements given
above are correct?

faj 1 and 2
(b) 2 and 3
fcj 3 and 4

({d) 1 and 4




72. tfafemat & sfewerdt Frmew § Feafafea
7§ 3-8 aheda affifam ¥

1. &t awiss 6 "o | gia

2. Y5 H U @M

3. FumEd @= it v mva %
S 9 I

4. wif@ 3 SO F A9

= T TR WO WA SW
R
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(a) Fa@ 234 -
1 3 3

1, 2 &R 4

(b)
(c}
(d} 2, 334

73. ieF 6 Prefafag oedy sEensd ©@
ﬁﬁ]’(iﬁﬁm‘

1. =%l
e
HEeT
Inden & e s T B

nallR N

(@ 134
(b) ad 2 3 3
{c 1,233

{dj 2,334
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74, Fafafga wo w faem Hifv

FHT & RIS § IRaEf & it I
T B T 8

1. SBEH
2., TSI

3. YU FaHH

9 Al B | B-wi/A wd 8/87
(a) e 1 AR 2

(b) FaE 13 3

c) Ha@ 3

(d) 1,233

75. FE Sl YUEE wen & fawa # Peafefam
FoHl W FFeEm iR

1. it R or=aie oo st
F I TR WA AT HEASAER
it gl B

2. figs wiw Hi Araies W saud
F 3 T WA FU WHESRR
# et B

3. it i =l 9@ =
negeER i ot 9 uim g
EIRAGIRL

4, da® F§ i awles Wa FA=
TEeR S 3R 9T W SFagH
$ Tt &)

IdE Fu § | FH-0 Td 7
fa) 132
(b) 233
) 334

(d 134

29
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76. Consider the following statements :

1. By examining embryos and
foetal stages of a vertebrate
group, it is impossible to
identify the group to which
they belong. ‘

2. Structural similarities exist in
embryonic and larval stages
which are not apparent in
adults.

3. During the development, chick
first resembles a fish, then an
amphibian and later a reptile.

Which of the statements given
above is/are correct?

(a} 1 and 2 only

(b) 1 only

{fc) 2 and 3 only

fd) 1,2 and 3

T7. Match List-I with List-1I and select

oo

the correct answer using the code
given below the Lists :

List-T List-II
{(Type of placenta} {Example)
Epitheliochorial 1. Dog
Syndesmochorial 2. Platypus
Endotheliochorial 3. Rabbit
Homochorial 4. Pig
5. Deer
Code :
fa} A B C D
2 4 1 3
(b) A B C D
4 5 3 1
{c) A B C D
2 4 3 1
d A B C D
4 5 1 3
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What is common in the scientific

contributions of scientists, viz.,
Francesco Redi, Lazzaro Spallanzani
and Louis Pasteur?

{a) Their studies have conclusiveiy
proved that higher forms of
organisms have not evolved
from viruses

(b) They have provided experi-
mental evidences disproving
the theory of spontaneous
generation of organisms

{c) They have shown that viruses
exhibit features of both living
organisms and non-living
things

{d) They have shown that most
bacteria are heterotrophic in
their nutrition

79. The main contribution of Stephen

J. Gould to the evolutionary theory
is the proposition that

fa) most evolutionary changes are
principally the outcome of
gradual accumulation of small
inherited variations

(b) Mendelian mechanisms cannot
be an important element in
directing evolutionary changes

fe} certain characters show a
sustained tendency to develop
along an evolutionary line

{d] most evolutionary changes
have consisted of rapid
outbursts of speciation

alternating with long periods
during which the individual
species remained virtually
unmodified
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AT F FA A EYE S A
44 sraftet & @y yenadl § fas
=iy stet awga: sEwEiE
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{a)

(b}

(c)

(d)

80. Which of the following groups of
animals studied by Darwin in his
visit to Galapagos led him to
advance his theory of evolution?

Flightless birds, giant iguana
lizard and cave-dwelling fishes

Finches, echidnas and
cave-dwelling newts '

Giant . land tortoises,
armadillos and opossums

Finches, glant iguana lizard
and giant land tortoises

81. Why are frogs and toads usually

absent from oceanic islands?

(a)

(b)

{c)

(@

They  are poor swimmers and
cannot cross large water
barriers

There is not  sufficient
availability of freshwater for
breeding purposes in oceanic
islands

There is scarcity of insects
which form the major part of
their diet

Saltwater acts as a barrier and
they are quickly killed by
saltwater
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82. Consider the following statements :

1. The Neanderthal man was
thick-set, muscular, relatively
short with a large nose and
strong jaws.

2. The Neanderthal man
mhabited sub-Saharan Africa
about 50000 years ago.

Which of the statements given
above is/are correct?

fa) 1 only
{b) 2 only
{c) Bath 1 and 2

{d} Neither 1 nor 2

83. Match List-]l with List-II and select

Uowe

the correct answer using the code
given below the Lists :
List-TI List-IT
{Insect pest} {Crop)
Papilio demoleus Cotton
Dysdercus koenigii Coconut

1.

2.
Oryctes rhinoceros 3. Citrus

4.

Phenacoccus hirsutus Coffee
5. Jute
Code :
fa) A B C D
4 3 5 2
(b) A B C D
3 1 2 5
{fcj A B C D
3 1 5 2
{di A B C D
4 3 2 5




80. TfdT & A wwu & 4w T et &
gt % IvrEd 3 R I em fagr
%! M GgM | werEd Hi?

fa) T IF T weh, fawmam g
fowarett o Trr-amdht 47

(b} FRm, Tfrgem 3R gET-an =g

(c) Tama W@ sy, anfeat @k
ey

(d) Fhem, fama g fwed ol
ferset werer weny

81. weEPR! #9 ¥ dew ik I w=: w9 ad
re 187

(@) 3 7= s A E i fomga v
sradgt st IR T8 w FHd

(b) WETATH D91 | o= WSl & R
IETE TR H EH Iuesaa T
Bt

(c) =@ W e I & 0 T e W
Y@ T #

(d) TEAN T TF AIAUF H H Al

t 3 9 i & waw s ¥ M s

&
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82. Frafafes wuat w famm Sifsm

1. Foega owa wdien, O,
IaERd B o et e Aifeen
3R TeEg =g 9|

2. Tasw@ w3 @mm 50000 W
@ ®Em % A % anhiwt d fam
FAT =i

37 & | FH-T/A ToA @@ 3787

@) Fad 1

(b) Fa= 2

fc) 13 2 <

(@ Fa1ATH 2

83. -1 & -1 ¥ giftm iR ok

gt & Fi= R T g @ i W ad
mgﬁq:
Fft-1 eI
(e dig=) (o)
A. fifoen femifisr 1. wum
B. fRgsdg wlefen 2. afEw
C. wiiedig ogdom 3. fag-|w
D. ¥AFleg fgeqs 4. &
5. qTEd
E&Z:
fd A B C D
4 3 5 2
) A B C D
3 1 2 5
g A B C D
3 1 5 2
{dd A B C D
4 3 2 5
[P.T. O.




84. Paddy crop is damaged by which one
of the following insects?

{a) Leptocorisa varicarnis
(b) Dysdercus cingulatus
¢} Bruchus chinensis
(d) Sitophilus oryzae
85. Which one of the following pairs is
not correctly matched?

(e} Aedes aegypti . Yellow
fever

(b) Glossina palpalis : Sleeping

sickness
(c) Xenopsylla
cheopis : Plague
{d} Phlebotomus
papatasi : Hay fever

86. Which one of the following causes
severe damage to bee-keeping
industry?

{a) Galleria
(b) Lepisma
{c} Liposcellis

{d} Monomorium
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87. The honey contains maximum

percentage of following sugars
(o} Sucrose and fructose

{b} Trehalose and mannose
{c} Levulose and dextrose

{d) Malitose and glucose

88. A person observing prolonged fast

will excrete which one of the
following in urine?

fa} Fat
(b} Amino acids
{c) Albumin

(d) Ketone bodies

89. With reference to poisonous snakes,

consider the following statements :

1. Usually a pair of maxillary
teeth is modified into fangs.

2. Scales on the head are
enlarged to form large shields.

3. The parotid (labial) glands are
modified into poison glands.

Which of the statements given
above are correct?

fa}) 1 and 2 only
fb} 1 and 3 only
(e} 2 and 3 only

{d) 1,2 and 3




84. W i THw H FrAfafa & ¥ B w 87. frlafes 7 @ = wbuel =1 @y #

iz % g & et 27 ftrmem whvra 27

@ d ] (@) TEE 3R FEES
(b) Tedeim iR

(o) Fowsea Rigezw () g ik e

(c) FF AT (d) WEW I oI

(d) Frifees sirrssht 88. TF =fF ¥, W o TG ¥ TG W 2,

73 1 f=faRaa 4 @ a9-w @ swffa
e
85, faefefes & @ ®9-m w gm gl = (@)

27
(b} TR =

(o) ST shrerE : iy =R fc) TegmA

(b} TfeAr o RsTey sy (@) e

(c) SHifden Flefea . wm 89. Tt @Mt & A= § F=ffgs =@ w
ﬁ?‘l’(aﬁﬁm:

(d) RN WREE WS S 1. wWE: St dd W @ gw

forga o wuafE B S R
2. % &% ves afda B R Rwes
86. Triifad & & #9-T1 O, wywad-aem & o .
Fem i s o 27 3. wUgE (3nim) uhed faw bt §
FTARE g AT

(a) R I 1 & A% T @ 3

(b) ST (@) Fadd 1 3R 2
(b) +a@ 1 3R 3

(C) (c) Fa@ 2 3R 3

(d) ARREE (d) 1,233
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90. Consider the following statements :

In citric acid cycle

1.

three hydride ions (hence, six
elecirons) are transferred to
three NAD* molecules

one pair of hydrogen atoms

(hence, two electrons) is
transferred to one NADP*
molecule

one pair of hydrogen atoms

(hence, two electrons) is
transferred to one FAD
molecule

one NADH molecule is utilized
in the process

Which of the statements given
above are correct?

(a)
(b}
(c)
(d)

91. Hypersecretion

1 and 2
1l and 3
1 and 4

2 and 4

of glucocorticoids

especially cortisol and cortisone
causes

(a)
{b)
(c)
(d)

Addison’s disease
Adrenogenital syndrome

Cushing’s syndrome

Testicular feminization
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92. Kidney is involved in the synthesis of

(@)

(b)

(c]

(d)

calbindin for calcium
absorption

calcitrol for calcium
homeostasis

cholecalciferol for hone
formation

calcitonin for phosphorus
metabolism :

93. Match List-] with List-lI and select
the correct answer using the code
given below the Lists :

List-I List-IT
(Hormone) (Nature)
A. Estradiol 1. Amino acid

derived
B. Thyroid 2. Protein
stimulating
hormone
C. Glucagon 3. Glycoprotein
D. Epinephrine 4. Cholesterocl
Code :
fa) A B C D
1 2 3 4
(b} A B C D
1 3 2 4
fc} A B C D
4 2 3 1
(d} A B C D
4 3 2 1

94. An end of a double-stranded DNA
molecule where there is a single-
stranded extension is called

(@)
(b)
(c)
(d}

Blunt end
Staggered cut
Stem-loop structure
Sticky end




90. Frafafga et | famm fifs -

fifiw s aw @

1. W g e (3, ©

goaga) @9 NAD*  epe ®
= B §

2. T THRGNW YOI FH (@, @
THEHM) T NADP* o =
3= B B

3. U ERFNA WM FH (I, A
$AFM) TF FAD 319 # F=ia
BT ¥

4. WEM ¥ ©F NADH 319 & 3w
g

I § A BH-§ HYE W €7
(@) 132
() 133
) 134

(dj 23R 4

91. THHLHEel, iy w1 ¥ Fifddia sir

Fiidar & stfvaa § = dar 27
fa) W& M

) YA were

(c) Ffwr wwaw

(d) ?ﬁwm&ﬂw
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92, Fm frah Gvamwr 7 e g &7
(a) Frm Favivy & ¥ Fefafra
*
(b) icom A ¥ oy HREE &
(¢} fET T & foru waFEsds ¥
(d) BIERE Iy & o ek

&

93. -1 A TH-I 4 Gafwa fim v
gt % Hi9 Ry e 2 & 3@ woad
mgﬁq:

-1 -1
() (vwm)

A, wfsaTE 1. Wi sva sgea

B. 9098 @ eRA 2. WM

C. W@ 3. WEEmAA

D. ¥ 4. HARUA
T :

(@) A B C D
1 2 3 4
) A B C D
i 3 2 4
0 A B C D
4 2 3 1
d A B C D
4 3 2 1

94. fggft DNA 3] &% @ iR #!, s@ W
TG fAam g 7, w5 e &7

(a) Fiea R

(b) wiaE FR
(c) FA-F WTAT
(d) stgedt R
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95. By working on which one of the 98. Which one among the following is the

following did Beadle and Tatum largest wetland?
put forwz_ard one gene-one enzyme (@) Pulicat Lake
hypothesis?

{b) Kaliveli Tank
{c) Chilika Lake
(b} Escherichia coli (d) Vedanthangal

fa) Drosophila melanogaster

(c) Neurospora crassa . .
99. . Project Musk Deer’ was launched in

{d) Saccharomyces cerevisiae 1974 in
fa) Dachigam National Park

96. Consider the following pairs : (b} Kedarnath National Park

Industry Pollutant (c} Corbett National Park
released (d} Pin Valley National Park
1. Petroleum Hydrogen h ) Iphin bel
refinery sulphide 100. The Gangetic dolphin belongs to the
genus
2. Paints and Nitrobenzene ,
. i {a) Platanista
pigments and aniline
. ) (b} Pelphinus
3. Tanneries Chlorine and
lead (c) Balaenoptera

Which of the above pairs is/are {(d) Phocaena

correctly matched? )
101. Consider the following statements :
fa} 1 and 2 only 1. The Pygmy Hog (Sus
salvanius), the smallest wild

(b} 2 and 3 only pig, is an inhabitant of Eastern

Himalayan foothills.
{c) 1 only
2. The Mouse Deer (Tragulus
{d 1,2 and 3 meminna), a tiny raminant,
inhabits the forested areas of
97. Among the following zooplanktons, Southern India.

{a) Brachionus above is/are correct?

{a} 1 only
b) Asplanch
{b) Asplanchna (5 2 only
{c) Stenocypris (c) Both 1 and 2
{d} Lecane {d) Neither 1 nor 2
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95. Fmfailas # @ ffs ™ m ®d 0 g

Hfed M W I w v-w TmEm
aftareaT i wiaariea feean?

(a) FrAfber Ao
(b) TIRIHIAT it
(c) =TI
(d) @RargerT iz

96. Frtuias gt W fmm Hifvw

Ferm Ff wquw
1. e aReR- FEgeH TewEe
M)

2. TN SRaE  AEgRs efi

LEGIE|
3. THNEEY TR 3R Har
I gt A | F-an/@ gk /8
(@) Fae 132
(b} FI@ 2 3 3
¢ FaE 1
(d) 1,233

o97. fafsfan % } S-m w wircEs

THEL Tt 27

{a) RFrTg
(b) CEET
(c) AR
(d) T

P-DTQ-J-APP/3A

39

98. F=fafan 4 & =1- w o ufi

e 27 -
(o) Ferwe Fhe

(b) e Fe

() Tt e

(d) ITALTHA

. O g w1974 # sl W

AR Y T oft?

(@) ST AT T
(b) HERTY TS Uk
(c) T IO qreh
(d) & It F9eadt T

T A gl 9w et Slafe e o @

Y @ 87
(a) AR
(b) wfTq
c) ST
(d) SiFTEAT

. F=afafes st w famr Hifem -

1. Touft g0 (g g=fem), g=@ B
SATelt gewr, gt fomerfl qrefifat
1 It B

2. WA ¥ (e 9fimn), & B
T=ht, sfErft wim & afw & =
21

g | A HH-W/R FeR ) 357

faj *ad 1

() F=A 2

fc) 13N 2B

(d) Fd13Mad2
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102. The ancestral horse Eohippus of
Eocene period shows which one of
the following adaptations in limbs
for speed?

{a) 4 digits in forelimbs and
3 digits in hind limbs

(b} 3 digits in forelimbs and
4 digits in hind limbs

fc) 4 digits in forelimbs and
4 digits in hind limbs

{d} 3 digits in forelimbs and
3 digits in hind limbs

103. The Eravikulam National Park is

famous for its

fa) Gaur

(b} Lion-tailed Macaqgue
{c}] Nilgiri Tahr

{d} Great Indian Bustard

104. Accessory respiratory organs are

found in fishes living in
faj marine water

(b) cave water

() snow-fed rivers

(d} tropical freshwater

105. Which one of the following is not a

fossorial adaptation?
fa) T-shaped episternum

{b) Fusion of cervical, sacral and
lhumbar vertebrae

fc) Keeled sternum

(d) Highly developed tactile sense
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109, Consider the

106. To facilitate the aquatic respiration,

tracheal gills are found in which of
the following?

{a} Fishes
(b} Turtles
fc} Mollusks
{d} Insects

107. Which one of the following is a

secondary aquatic animal?
{a] Zygaena

(b) Dugong

fc) Solea

{d) Exocoetus

108. Which one of the following is

the most
ecosystem?

productive aquatic

{aj Coral reef ecosystem
(b} Estuarine ecosystem
{¢) Riverine ecosystem

(d) Pond ecosystiem

following marine

organisms :

1. Ammodytes

2. Calanus

3. Clupea

4. Chaetoceros

Which one of the following is the
correct sequence of the food chain
formed by these organisms
beginning with the producer?

fa) 2-4-1-3

(b) 4-2-3-1

fc) 4-2-1-3

(d} 1-4-3-2

_—7




102, JREH wea = IgF 9 3eAfews, T
% forg uet # frefeafae & |/ <9-m
STIFTH Taial &7
(@) JumE! # 4 sufferal iR gt #
3 st

(b) STURET ® 3 IRl R yawEt #
4 mferat

{c) gt & 4 aiferai aft ggwEt &
4 s

(@) s % 3 siyferi it warEl
3 st

103. WiEligom TFe e e fig wig 37
(@) T
(b) Theg=s T
fc) -rafiic oz
(d) WEH W "

104. Fgl 9@ T aiet 446 § 9gEes 969 307
1Y ST &7

(a) <O S

(b} g1 SE

(c) Teu-ufm wfeat

(d) S arcavfia s

105, F=fefaa & & *9-w & @ AgEeH
et 27

(@) T % TR FH e

(b) dar, Ul M wfe wNER H
e

(c) Ffra Ffy
(d) sifcfaeniya el gag
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106

107

108

109

. Freffen § 3 frl wolw = 7 g

TN F Y awrE w0 T S &7
(@) A

(b) T

c) WieH

(d) e

. F=faflgs & 4 @9-w1 & tdfus selw

i 87

(a) s

(b) =T

fc) TierT

(d) uEgfieq

. Frafafaa % 9 wF-w = wEitts SseE

“Iefia uTiEs 27
(o) wara fufa wiws
(b) SEARAEHE! TG
c) T TG
(d) e qifes

IRH ¥ ATEH A gY F A4 F T
wr-gEe S & fefRea § R
HIF-W G TGFA 87

(@) 2-4-1-3

(b) 4-2-3-1

fc) 4-2-1-3

(dj 1-4-3-2
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112. In

110. A genetically different population of a

species colonizing different habitats
is known as

{aj Ecophene
(b) Ecotype
{c) Ecological equivalent

(d) Ecad

111. Which one of the following is found

in Eastern Himalayan sub-region?
{a} Brown Goral

(b} Markhor

fc) Ibex

(d) Tahr

warm-humid climate wmany
mammals, birds and insects are
darkly coloured than their

counterparts living in cool-dry
climate. This is an example of

fa) Jordan’s rule
(b) Gloger’s rule
() Bergmann’s rule

{d} Allen’s rule

Indian wild ass comes under which
Schedule of Indian Wildlife
(Protection} Act, 19727

(@ 1
() 11
(c) 1
(d) v
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116. Consider the

The sting of honeybee is a modified

organ of which of the following?
fa) Mandibles
(b} Labellum

{c¢} Ovipositor

" {d) Proboscis

115. Which one of the following kinds of

substances contribute significantly
in increasing the phosphate
concentration during eutrophica-
tion?

faj Detergents
(b} Disinfectants
(cj Organochlorines

fd) Synthetic polymers

following charac-

teristics regarding snakes :

1. 3rd supra-labial scale touches
the eye as well as the naris
bearing scale

2. Presence of special spots on
the belly

3. Presence of pit between eye
and naris

Which of the above is/are true in
the case of coral snalkes?

{a) 1 and 2 only

(b} 2 only

fcj 1 and 3 only

({d 1,2 and 3




110, % sfd H argaReea: fa qulk |,
fafte smamt @ ufEym & ®, &0
F5a &7

(a) ATHAF
(b) iferEy

111. fPefafas & @ o9-ur ws, o e
sawew ¥ g wan 87

(a) 0 TR
{b) HTER
fc) HTZA
{d) T

112, IW-3N% woay ¥ @ T W, 9sft e
Fie viia-F soag # wY a e @i,
ot o ) f e TR W F B
21 78 Torue Serw §7?

(a) ST fram
(b) TR P
fc) <R T
(d) R

113. W STeft T wRa ¥ Sl (gean)
affm, 1972 A frm ogEEh &
a3 §7
fa} 1
b)) 11
{c) 1
(d Iv
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114, Prafofea # @ *F-w @ o mywEdt &

W ¥ wEha § T 27
() Tagwfe

(bj g

{c) g

(d) rsH

115. frafafes # @ e wor & vend gaww &

W HEPe Y "W H ghe T Heaqy
Tre 3 &7

(@) ATIEE
(b) fadswmes
(c} FrEam
(@) e ages

116. widl & fmg # feffee fAdwaet «

fram Hifde
1. e regig-ves, i@ # oy

& Taifee & foad ves @ 2,
et war €

2. TR F IR ey vt A R

3. 3@ ot aafer & e 4 © Hf
M

g & & FH-a/ v w ¥ P &
W 230

(a) ¥ 1 &l 2
(b) FA 2

(c) Fat 133
(d) 1,233
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117. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

List-T
{Name of the
pesticide)
A. Lead arsenate
B. Carbofuron

C. Pyrethrum
D. Naphthalene

Code :

@ A B
4 1

) A B
4 2

fc) A B
3 1

(d A B
3 2

118. Consider the following species of

prawn :

List-IT

{Mode of action}

1,
20

- ) N O

Contact poison
Systemic
poison
Fumigant
Stomach
poison

-"'U' wg wu

+ g

1. Penaeus indicus

Penaeus monodon

2
3. Parapenaeopsis stylifera
4

Macrobrachium rosenbergii

Which of the above is/are cultured

in freshwater?
faj 1 and 2
(b} 3 only

fc] 4 only

(d) 3 and 4
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119, Methemoglobinemia is caused due to
the presence of in excess of which
of the following in drinking water?

{aj Iron
{b) Nitrate
(¢) Phosphate

{d) Copper

120. Match List-! with List-Il and select
the correct answer using the code
given below the Lists :

List-I List-II
(Ruminant's {Structure)
stomach)

[a—y
.

A. Abomasum Gastric glands

Longitudinal leai-

like folds

C. Reticulum 3. Short finger-like
villi

D. Rumen 4. Ridges

i

B. Omasum

Code :

@@ A° B C D

2 4 3 1
(b) A B C D
1 4 2 3
{fc) A B C D
2 3 4 1

d A B C D
2




117. §-1 it g&@-11 | gafa Hifse i 119. 9 5@ ¥ F=fafea & 9 freht soferfy

et & i3 Ry m R W o st ¥ R
TR &7 ‘
-1 e-11 fa) T
(drgwmeft wvam)  (Bem-fafd)
(b) TR
A o IR 1. worst faw ,
B. e 2. el faw () WiEke
C. wRym 3.y @
D. =Ageefi 4, w3t fam
e | 120. -1 &t gd-1 & gafem g st
@@ A° B C D it & 49 Re g2 =1 wEm W ad
4 1 2 3 AN GLE
() A B C D
)4 2 1 3 -1 TEA-11
(Tweft =1 w1eR) (W)
g A B C D
3 1 2 4 A. wgd s 1. e Himt
(@ A B C D B. g« A 2. rgEed golag aem
3
A c. i s 3. B aimfeEg
118, it & Ffifaa it w fraw At - TR
1. fem iewg , D. Suq 3MHEE 4. FTH
2. erg Wl _
" ApiRfT DeaeTd fad A B C D
a .
* 2 4 3 1
IEE § ¥ FE-E/A oaaeiE sw d A
wattda fam smar B /fg s 27 (b) : 12 ;: 13)
(@) 1¥R2
& A B C D
k) ¥ 3 | ’ 2 3 4 1
c) FaH 4
(d A B C D
(d) 334 1 2 4 3
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W T AIE g8 T YRt Giem ®Y T wE Wt a9 uw T O e

SV . : P-DTQ-J-APP Gdterun giemehTt srgwn
E ke
5189 T
) -\
riur-fasma
9T : B ue quiies : 300
AIIW

1. wlten S g % ge WG, A9 w9 gl gt i ugara sava o E Ry gt w5 R un, wer
A G I YT e wAiw 3nfR 7 g uRR v @, @) @ wd wharw gt & 9w o)

2. IW-AE W §@ T W whew g sg@e A, B, C W D guifify we wu @ grag SR

3. @ vl yfRw W wy # R Aws d st o
g feren B oltgwn gfeem e wo 7 )

4. @ g gfew § 120 wwiw (5W) fe e ) e wemn B ol st F v ) w&iE ywiwm § =w
TR (IW) e w1 o B o v F g o, Bl o oo w it w5 T §) R A T
w0 % w & st g wd ¥, | o e ) sl S ot wetem o) wele S ¥ e S
TE TG g R

5. YR HT D TP FF ¥ Ry 1 T-mE WA ik w0 swewe § Ry A e

6. ™ff vt & % wWw g

7. W W f o e gfee % R TEiEl % S SOt-T W iR e IE &G, o
WA-9 % WY UG SR & oguR 35 e swews § [ )

8. Y AW WA W F I T WA F % AW i F W W Faw IN-AH hEF H A9 3
AR 3T W qhEm IR @ W R Al )

9. = & % g T wlgw g % ot & wem 8
10. 7Tea 3w & fog gue -
wEgfE we-wEt | Iwfigar gra Ry e Tem swd & frg gve R wien

(i) e e % fore S Aot w1 wmfiean o0 weds v & frg R e e 3w ¥ R ww g
P ey ot w1 wm-faerd (0-33) T ¥ w0 A wR s

(i) afX =i Infieam u & wiftd oo a1 B, o 3@ e wA AT e, Tl R du sad § ¥ o o ad
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Note : English version of the instructions is printed on the front cover of this Booklet.




